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6= Understanding Upper and Lower Bounds

1.  Awhole number is rounded to the nearest 10, The answer is 80,
a List the integer values the number could be,

b Whatis the i A
i lower bound ii upper I;:nqnd_?i_;.

2. A number with one decimal place is rounded to the nearest whole number.

The answer is 12. Complete these sentences. -
a The lower bound is Vegil

b The upper bound is

3, A numbern, mund_éd 'td"ﬁ#é:f'sigﬁiﬁcant figures is 3800.
Wirite down the error interval for n.

4, How wq'u];ij_-tlh'é_ﬁé:rmr interval change if n had been rounded to:

£Y three significant figures?

four significant figures?
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5. Jess rounds a number, x, to one decimal place.
The result is 9.8.

Write down the error interval for x.

6. A number, n, is rounded to 2 decimal places.
The result is 4,76,

Uising inequalities, write down the emor interval for n.

7. Eva and Annie each think of a number, * i |

When | .
round my infegerto %
the nearest 10, | get x} !

th 40 _.mine also rounds to 40
| . Annie |

a) What is the smallest number Eva could be thinking of?

' My number is
“not an integer, but

b} What i_s.'thé. greatest number Eva could ke thinking of?

¢} Complate the sentence,

Eva's number is between and

Are the answers the same for Annig’'s number?
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8. The table shows how eggs Egg size Mass (g)
are categorised by mass. very large m=>73
large 63<m=73
medium 53<m=63
small m <53

a) What is the size of an egg that weighs 72 g7
b} What is the size of an egg that weighs 63 g7

c) What is the maximum mass of a small egg?

9. Write these intervals in words.

The first one has been done for you. _
1<x25 x is greater than 1 but less than or equal fo 5

12x<5

1<x<5

3.5<x=45

10. In a school, there are 200 students in Year 7 and 300 students in Year 8
Both numbers are correct to 1 significant figure.

Work out the greatest and smallest possible total number of students in Years 7 and 8

greatest possible number =

smallest possible number =
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11.

12,

Tick the interval that matches each statement.

a) X = 810 the nearest integer

7.5<x<85

75<x=85

7.5<x<85

7.55x<8.5

x = 8.0 to 1 decimal place

7.5 <x =85

75<x=8.5

785 =x <8.05

7.5=x=8.05

b} the length of the book, /, is 20 cm to the nearest centimetre

19.521<205

18.5<1520.5

_19<f<21

the length

of the book, /, is 20 em to the nearest 10 em i o

T652i<204

“10'=f<30

1551225

10</<25

c¢) p= 3to 1 significant figure

15=1<25

2 4: ; p 1: 4

255p<35

255ps35

p=30to1si

gnificant figure

25<p<3s

20,5<p<30.5

29.5<p=304.<

| 256=p<36

Complete the error inter\._ré__i_élﬁ::l"' each statement.

a = 16 to the nearest whole humber

b=10to _the”'r_'té._e\'rést whole number

¢ = 600 fo the nearest 100

- -d’=6,000 to the nearest 1,000

& = 6,000 fo the nearest 100

f= 6,000 to the nearest 10

g = 6,000 to the nearest integer

=4d=

=h<=

=Cc=<

=d=

=8=<
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13. Brett and Tom have given these error intervals for the number m.

Brett Tom

2365<=m<245 \ L24.5 *mz23.5

Brett thinks their answers are the same.

Do you agree with Brett?

Explain your answer.

14. Write a possible statement to match each error interval.

The first one has been done for you.

a) 375sh<385 _h=38f01 decimal place

b) 11.5sp<125

c) 105sg<115

d) 7.950<m< 8,050

e) 0.0055t<0.015
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15. Vihaan works out the area of this pond to be 18m2, correct to the nearest metre. Wite
a the lower bound of the area

b the upper bound of the area

¢ aninequality to show the range of values the area could be.

16. Saarya works out the mean number of points her netball taam scores ea::h match
to be 60 points, correct to the nearest 10 points. 2

@ i the lower bound of the mean number of points

ii the upper bound of the mean number ﬁf.pﬁ'inté."".

b Write an inequality to show the range uf values the mean number of points could be,
Explain how you w:::rked out your answers.

e

17. Ashop sells pEecés'i:tf woad that measure 150 cm to the nearest 10 cm.
For the length of one piece of wood, write
i the lower bound

o i the upper bound

iii an Inequality to show the range of values.
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18, ais aninteger.
For each of the fallowing, write down the possible values of a.

O=sa=12
Gean=<1i2

i,

=<1

9=a<12

19. x =4 to the nearest integer.

o

% x could be aﬁf ifu_y:;mber from 3.5 to 4.4 ]

Annie is incorrect. Explain why.

20, Which of these inequalri't'iea"_"réﬁ'fééents the possible values of x?

-

35<x<45 35<x54.5 355x<4.5
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21,

A bottle has a capacity of 1.2 litres correct fo the nearest 0.1 fitres,
a For the capacity of one bottle, write e

i the lower bound

ii the upper bound

iii an inequality to show the range of values.

b Forthe capacity of five botiles, write 2 i
i the lower bound
ii the upper bound
iii an inequality to show the range of valué_é;_..'_"-

[l

22, The length of a book is Eﬁ:.'cn'ixté_"-"tlﬁe nearest centimetre,

5

Complete these siaiaméh_ts:_é_l%ﬁt the length of the book.

lllllllllllllllllllllllllllllllllllllllllllllll

The lower limit fﬂ_:r_ the length of the book is
The upper limit éqr'tﬁe length of the book is

- d

., EY
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